RAKE TRIM ————

DUTSIDE
CLOSURE

ROOF PNL.

LV W .

SCREW ASS'Y.

PURLIN

PURLIN

SCREW ASS'Y.
12°0C. ——/
RAKE SLIDE

\—RAKE ANGLE

:

PLATE WASHER

RAFTER

ENDWALL PANEL T

SCREW ASSY.——e
12°0C.

1/2” X1 1/2” H.S. BOLT
HW5604, & NUT HW55695 (TYP.)

e T

&

N\

3/4” X21/4” H.S. BOLT
HW5602, & NUT HW5597,
& WASHERS HW5612

.&112” x13/4” H.S. BOLT
HW5603, & NUT HW5595

=

FLASHING

_

1/2” X1 3/4” H.S. BOLT HW5603,
& NUT HW5595 (TYP.)

TOP ROLLER ASS’Y.
HW9074

| &lg
SCREM ASSY.——
12°0C. 4
HEADER ——————

—

\@
\
>

GABLE HANGAR

GUIDE
BEAMS
STUB
COLUMN |\
-
/
44 —2-
A A A S,

ENDWALL CDLUMN

SCREW ASS’Y.

12°0c.
GIRT

DOOR PANEL

1/2 x 1 3/4” H.S. BOLT HW5603, &
NUT HWS5595 (TYP.)

/
HWS885
HAMILTON CASTER

R-EHD-FT9IH-BS

N\

-
1

DOOR RAIL

ey
4

0

CANE BOLT
1 HW5880

CANE BOLT
i DOOR CLIP

MW60S!
|, ——17 1D )? 3" PIPE
{ (SET IN CONCRETE?

/7 FINISHED FLDDR

FIELD DRILL AS REG'D.

\ 2°@3/16°\, L/

7/ 2'e3/16°)/

FIELD W

ELD

<~

\—PIPE STRUT AT STUB COLUMNS.

NOTE:

1> TWO TRACK SYSTEM SHOWN FOR
DESCRIPTIVE PURPOSES, SEE BLUEPRINTS
FOR NUMBER OF TRACKS & DOOR
LEAFS REQUIRED.

2) MANY BUILDING CODES REQUIRE FINISHED
FLOOR TD BE SLOPED FOR DRAINAGE
OF AIRCRAFT FLUIDS.

3) SHIM & LEVEL AS REQUIRED FOR
PROPER ALIGNMENT & PLUMBNESS.

NOTE: ALL BOLTS 1/2% X 1 1/4°
UNLESS DTHERWISE NOTED

Hangar Door
Cross Section

47

01/05/2018



